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General Instructions :

1. Candidate must write his/her Roll Number on the first page of the Question
Paper.

2. Please check the Question Paper to verify that the total pages and total
number of questions contained in the Question Paper are the same as those
printed on the top of the first page. Also check to see that the questions are
in sequential order.

3. Making any identification mark in the Answer-Book or writing Roll Number
anywhere other than the specified places will lead to disqualification of the
candidate.

Write your Question Paper Code No. 67/SS/A, Set on the Answer-Book.
S. (a) The Question Paper is in English/Hindi medium only. However, if you

wish, you can answer in any one of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada,
Telugu, Marathi, Odia, Gujarati, Konkani, Manipuri, Assamese, Nepali,
Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in
the box provided in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and
English, the responsibility for any errors/mistakes in understanding the
question will be yours only.
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EMPLOYABILITY SKILLS AND ENTREPRENEURSHIP
TSR YT 3R Jefear
(350)

Time : 3 Hours | [ Maximum Marks : 80

a3 °ue | [ quifsh = 80

Note : (i) This question paper consists of 43 questions in all.
(ii) Al questions are compulsory.
(iii Marks are given against each question.

(iv) (a) Question Nos. 1 to 16—Multiple-Choice type questions (MCQs)
carrying I mark each. Select and write the most appropriate option
out of the four options given in each of these questions. An internal
choice has been provided in some of these questions. You have to
attempt only one of the given choices in such questions.

(b) Question Nos. 17 to 28—Objective-type questions carrying 2 marks
each (with 2 sub-parts of 1 mark each). Attempt these questions as
per the instructions given for each of the questions 17 to 28.

(c) Question Nos. 29 to 37—Very short questions carrying 2 marks each
to be answered in the range of 30 to 50 words.

(d) Question Nos. 38 to 41—Short questions carrying 3 marks each to
be answered in the range of 50 to 80 words.

() Question Nos. 42 and 43—Long questions carrying 5 marks each to
be answered in the range of 80 to 120 words.
féw: () 3@ 99-71 § $A 43 I B
(i) @t gea e F)
(iii) TCHh Y % I ITh G few mw F)
(iv) (a) o9 T 1 ¥ 16 % Fg-faheda w1 & fH 5% WA 1 3 1 R Tk
g ¥ feu MU AR faswbedi § @ wo9 3ugw fosheu w1 wEE o 3R ford| T @
B T H 31dies fashed feam o 31 3kt @yl § fou e feshedi © @ aw
Uk IR ¢ Bl
(b) T TR 17 ¥ 28 IS YHRK & YA 7, H TS YA 2 3IWhi w1 7

(1 3% % 2 I4-9TT & HY)| TIb T & fou feu e & @R 37w
% I 2|
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(c) o T 29 ¥ 37, 2 3 & A0 TR JHR & YA &, T IW 30 @
50 wisgt ¥ & F

(d) T3 @I 38 ¥ 41 3 Ikl & WO YHN & I 7, o I 50 ¥ 80 wedi
7 g R

(€) I T 42 qUT 43 5 Fh & ¢H-3q0T THR & TN g, s W 80 @
120 W= H & F

e N
(1) Answers of all questions are to be given in the Answer-Book given to you.

aft T % IW MR & T IW-YEaen § & ford|

(2) 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 2:15 p.m. From 2:15 p.m. to 2:30 p.m., the
students will read the question paper only and will not write any answer on
the Answer-Book during this period.

3 Y-UF Sl Ued & fu 15 e &1 ug fear mam 81 wea-ua 1 faauor que §
2:15 o foham S| SUEX 2:15 §9 ¥ 2:30 &9 9% B had IH-UF hl TeN HR
3 HAY & G I IW-YREAHT W HIg W A8 foram|

1. What does T stand for in PSMART goals? 1
(A) Tough (B) Temporary
(C) Time-bound (D) Tight
PSMART @&i § T %1 &1 " @7
(A) e (B) reurf
(C) wwIEg (D) @
Or / 379491

Which of the following is not a component of decision-making triangle?

(A) Behaviour (B) Value

(C) Attitude (D) Creativity
ffafed & & sH-a1 ol o9 a B &1 gew @ 20
(A) HIER (B) HA

(C) T&mm (D) TIATHA
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2. Complete the following : 1

Employees Provident Fund and Miscellaneous Provisions Act,
(A) 1956 (B) 1926
(C) 1952 (D) 1948
fr=feiiea =1 qU HifT

HierRl wios-ffy sk fafag ymam sfufem, |
(A) 1956 (B) 1926
(C) 1952 (D) 1948

Or / 3FYar

Which act specifies the time period within which wages must be paid to
the employees?

(A) The Minimum Wages Act, 1948

(B) The Payment of Wages Act, 1936

(C) The Workmen’s Compensation Act, 1923

(D) The Payment of Bonus Act, 1965

HH-a1 Afufem 38 FmmEty o fféy s g ek fiat HEamEi @ o &1 e
fopan S = ?

(A) =aw dIaq AfufrEm, 1948
(B) ddd AW Afafed, 1936
(C) HUSR Faraen Afufm, 1923
(D) & YT fafem, 1965

3. Ridhima is working with an IT company. Though she is eligible for
promotion in the company, she is overlooked because of her gender. Under
which law can she file a case against the company? 1

(A) The Workmen’s Compensation Act, 1923
(B) The Industrial Disputes Act, 1947
(C) The Factories Act, 1948

) The Equal Remuneration Act, 1976
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fifgmn © 3o o HHT T HM HAl 2| BAIh 98 TGHAN b AT 7, WAfehd Iqeh TorT
% HAU TR @l TRaT ST 2| 98 FRE D W d8d Sl o Raes wmer gRR
T Thdl B7

(A) wHerl wfaet srfufem, 1923
(B) 3ftenfies foarg stfufrm, 1947
(C) Pr@F fufm, 1948

(D) wHH wiifis sifafem, 1976

4. Learning through experiences by feeling them and getting personally
involved in the situations before them is

(A) concrete experience (B) reflective observation

(C) abstract conceptualization (D) active experimentation 1

IIVET h W ¥ I8 HegH hich UG 3R 3k av fafemi o =fwma &9 @ wfie
L

(A) I FIHE (B) fuasfiar e
(C) el Heheur (D) =fFT W

5. The smiling face of a child upon seeing her/his favourite toy may indicate
happiness, which is an example of

(A) posture (B) touch
(C) gesture (D) facial expressions 1
T S I GEBUAT G U 30 THGIG Raci i @ @3 H1 Hohd ¢ Hehdl 7,
S T IR 7
(A) 3TET (B) TRl I
(C) TR (D) =& & Wi
Or / 37941

A pat on the child’s shoulder by parents as recognition of the child’s
achievement is an example of

(A) eye contact (B) posture
(C) touch (D) gesture

350/5S/A/616 6 AR



= oh! IUATSH hl HIAT o &9 T AT g0 o= o Y hl YUY ShEhT ICTET & ?
(A) 7 GUh (B) Ha1
(C) el (D) =W

6. Which of the following is an undesirable aspect in the process of

communication? 1
(A) Clear message (B) Noise
(C) Sender (D) Receiver
fr=fafaa & @ #9-w1 @9r 1 ufk ¥ & e TEe 27
(A) T "W (B) =R
(C) wh (D) STHeRAl

7. To mark the end of a sentence, one can use
(A) full stop (B) comma
(C) semi-colon (D) quotation mark 1
I % IFd »I fafgd wE F fofu swmre TR S oear @
(A) ot ferm (B) 3Tcaferm
(C) eiferm (D) 3gw fas

Or / JYdl

Who is a leader?
(A) Who orders (B) Who leads
(C) Who manages (D) Who supervises
JaT 27
(A) T S IR I B (B) & S G HT @
(C) 98 S J&&H Hidl 8 (D) 9§ S Wl Hal 3

8. Which of the following is an example of simple future tense? 1

(A) I read NIOS study material yesterday.

(B) I read NIOS study material everyday.

(C) I will read NIOS study material tomorrow.
(D) I have read NIOS study material.
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frefeiflgd & @ o-o1 9ta viosTshial 1 3IQE 27

(A) I read NIOS study material yesterday.

B) I read NIOS study material everyday.

(C) I will read NIOS study material tomorrow.
D) I have read NIOS study material.

Or / FHY4dT

Which of the following is not a positive adjective?

(A) Adaptable (B) Diligent
(C) Persistent (D) Aggressive
frefafed § & FH-w1 gerEs fRmo T8 20

(A) TR (B) et

(C) <Tmar (D) 3ATshTHh

9. URL stands for

(A) Uniform Resource Locator (B) Uniform Resource Location

(C) Uniform Research Locator (D) Union Resource Locator 1
URL &1 319 &

(A) IHwr fE@E drhet (B) IHmiH fEE ehed

(C) I fad ket (D) e fErd s

10. The mode in which the business sells directly to the end consumer is

called

(A) B2B (B) B2C

(C) C2B (D) C2C 1
a8 et e sggEe Hig Afaw SuWier &1 S=ar 8, SEdadl @

A) sir2sf (B) si2Ht

(C) Hi2sh (D) #i2dt
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Or / HY4l

A software that automatically displays or downloads going digital
advertising material such as banners or pop-ups when a user is online is

called
(A) scareware (B) adware
(C) spyware (D) ransomware

Th HRSR S ITAThdl o 3ATeed g W Mmen fefea fagmom amuft 39 s
UT-31 I WEIld 9 8 JERid 1 SREAAS Hidl 2, 3H Hal Al &

(A) TRIERR (B) TSR
(C) TTgeRR (D) HEHRR
11. What is ERP? 1
(A) Enterprise Resource Planning (B) Enterprise Resource Profit
(C) Employees Resource Planning (D) Employer Resource Planning

Zo Mo Hto AT B?
(A) vermss T (B) Ueurss R wifthe
(C) wrrs T (D) wreteR e e

12. To steal and pass off the ideas or words of another as one’s own or to use
another’s production without crediting the source or to commit literary
theft is called

(A) plagiarism (B) phishing

(C) identity theft (D) cyber stalking 1
T % o=l weql 1 g IR 3% H0H fo=m % w9 H iR T AT EIG

59 feu fomm @l o 3G 1 T AT IR IWM HAT R FHEAT 7

(A) wfsferes = (B) TRm

(C) Uga™ I =R’ (D) @TgsR TR
Or / 3741

When did the Information Technology Act come into being?

(A) 1995 (B) 1999

(€) 2000 (D) 2005
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AT renfireht srfufrem, w9 sifera & smne?

(A) 1995 (B) 1999
(C) 2000 (D) 2005
13. Which of the following is a component of entrepreneurship ecosystem? 1
(A) Finance (B) Business support
(C) Policy (D) All of the above
f=fafes & @ e9-w safar oifeufed & =1 T 27
(A) fod (B) STEEIR FERIdl
(C) fif (D) 3w |+t
Or / JYdl

Which of the following groups best describes EE components?
(A) Life cycle and Growth

(B) Government and Constitution

(C) Business Environment and Finance

(D) Structure and Calculations

ffRad o § ®HH-91 948 30 30 UH H TEY IS dAUA HAT 87
(A) S =5k 3R T (B) TR 3R wfaum
(C) =ma|TReh ardmERor 3R S (D) ®FR 3R UMD

14. CSR stands for
(A) Corporate Social Reliability
(B)
(C) Corporate Steering Response
(D)

Corporate Social Responsibility

Company Social Response 1
o THo HNo HT TAH &

(A) HARe HrTfeeh fergediearn (B) hiuie amifoe It

(C) hHaRe FareH Sfdfskan (D) Ut |  Sfcfsha
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15. The point of no profit-no loss is called

(A) break-off point (B) break-through point
(C) break-even point (D) break-sale point 1
HE AN AG—Hs B T8 I f9g FHET 3
(A) FH-3ATH UEe (B) Sih-9 dige
(C) SH-3a4 Uige (D) S-Te Uise
16. What does GST stand for? 1
(A) Goods and Services Tax (B) Goods and Security Tax
(C) Goods and Stamp Tax (D) None of the above
Sfto o o T AATE HT B?
(A) o T &ET W (B) HIel T HLET
(C) AT Td W & (D) 3IWdh H | HIS T8
17. Fill in the blanks (any two) : 1x2=2
(a) The cycle of learning by David Kolb consists of _____ learning modes.
(b) S goal is _____, a goal that clearly states what one plans to do.

(c) The Payment of Wages Act states that any organization which has over

employees has to pay bonus.

(d) An organization with

foh wdl 1 gfd AT (@€ )

or more employees is supposed to pay
gratuity to workers who have worked for 12 months or more.

(%) sfos wica g Hi@d & 9 d g & alis Wi 3
(@) THo @&d 2, TH AT S WY €Y 9 a1 & 6 B R B I S S

@ 2l

(M) I A SAfufem g e e 7 e g ot @es A g afre i g,

3 FFE HT YTAE HET B

() 1 e HEATT dTel TS 1 37 ARl Bl TS HT AW ST aal
g =l 12 7dn o1 358 stfuss @ as% %M fea R

350/SS/A/616
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18. Write True for correct statement and False for incorrect statement (Answer
any two) : 1x2=2

(a¢) Miscommunication causes confusion.
(b) Listening leads to learning. It implies the message received.

(c) To ensure proper and effective communication, the 7Cs of
communication can be ignored.

(d) Effective communication is when the message conveyed by the sender
is understood by the receiver in exactly the same way as it was
intended.

I8 U % U g 3R T HU % fau s fafen (R @ w1 s df)
(%) T FER Y w9 a7 B 2l
(@) g O Hr@d Hl fierdr g1 g8l arcdd I Gy ¥ R

(M) 3fua 3R g @R ghfvea &0 & fofu, = & 7 @ @ Toeies e o
gehal 2|

(F) UV §9R 99 BT 8 S Y9 gRI WSl T HeW UTHehd! ohl dieh IHT A8 U TN
T A g 91 fop 3Tert ser o

19. Complete the given sentences by filling the correct form of verb

(any two) : 1x2=2
(a) Prem has ______ (work) in the restaurant industry for ten years.

(b) His career ______ (be) quite successful.

(c) Ramis ___ (go) to visit his friend.

(d) He has been ______ (stay) in India since last 10 years.

feu o gl TR w1 wE@ w9 W w qU HIRE (B )

(a) Prem has ___ (work) in the restaurant industry for ten years.

(b) His career ______ (be) quite successful.

(c) Ram is _____ (go) to visit his friend.

(d) He has been ______ (stay) in India since last 10 years.
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20. Match Column—I with the right option of Column—II : 2

Column—I Column—II
(a) Skimming (i) To read for a particular word or phrase
(b) Scanning (ii) To read the whole text or a large part of
the text, so as to understand the general
meaning

HiH—I HI HieH—II HI &l fashey & Ty gofera HivT -

wie—I wic—II
(a) TemfEm () et fomw wieg a1 GRS w1 Ue)
(b) THE (i) GO 9IS AT UIS hT U §ST W UeAl, dlfeh

qu= 37 999 | 3 Teh|

21. Complete the following (any two) : 1x2=2

(a) A set of related web pages located under a single domain name is
called a

(b) The speed with which data is exchanged is called as the

(c) An electronic communication network that connects computer
networks and organizational computer facilities around the world is
known as

(d) The pages or websites can be opened by writing their address in the
address bar of the browser. This address is called

frafafaa & @@ HvT (FE Q) -
(%) Tk & SWHA AW % JFdid TEUd Gefud 99 U % HE Wl % AT &
(@) fom wfd ¥ 221 &1 ACH-YeH BidT & 39 HE Il 2l

() Th FoRIHH FER AeTh Sl GHAT W b HIE Aeaeh N ESATCHD HAI
gfaws & Sear 7, 4 % ®Y W M S 2

(F) U AT 99 IR Bl TSR h CGH GR A YT AT fAER Wielm 91 HehdT B 39
T4 g A gl
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22. Write True for correct statement and False for incorrect statement : 2

(a) A digital identity is an electronic representation of who you claim to
be and who you are.

(b) In B2B commerce, the business sells directly to the end customer or
consumer who consumes such goods or services.

e %Y & T T¥ 3 Tod wH & fou o fafge

(%) fefiea Team & soiagite fdffae & foh 3 & gF &1 g&1 od & 3R 3
M &l

(@) sost wFd o, =™ WY fd g A1 IUFIRAN P S=AT g S UE SwgaT A
Yaail 1 ITHT BT 2|

23. Fill in the blanks (any two) : 1x2=2

(@) A is another malware which spreads from one computer to
another over the network but does not delete any file.

(b) A is a person who uses computers to gain unauthorized access
to data.

(c) software is a program or set of programs that are designed to
prevent, search for, detect and remove software viruses.

(d) Damaging or destroying data rather than stealing or misusing them is
called .

b T 1 qfd Fifve (% Q)

(F) U 3 TARR g SN -IaTeh W Toh Hrl § 8 el | heral & olfepd
et oft wree &1 feefie 78 = 2|

(@) g HAfE 8 S 92l T IHUDd Tgd ITH il & [T HPIYLL I ITAM HhLal
2l

(M) WA Th T AT U T HOE B S AT ARG Hl b, GioH
dl o 3 M o foru fesmga femam mm R)

(F) A H G AT GERAT HH % T 4 THEAM TGaHT A1 T8 HAT HEATAT
2|
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24. Match Column—I with the right option of Column—II : 2

Column—I Column—II

(a) An application which forces one to pay () Ransomware
a ransom or money to get rid of it

(b) It is disguised as a legitimate application (i) Trojan Horse
such as a game being offered free of cost

HicH—I ! HiaH—II % T& foshed & oy gafaa FHifT .
HicH—I HicH—II
(@) T TfrehyH ST fRet 1 HE e UM % folw () HEHAR
foRdet =1 99 ¢4 & fofu morem et 21

(b) IT TH oY TEARIH o &9 H f©W 830 g w8 6 (i) oW B
T W gu ° uw fRam S Rl

25. Write True for correct statement and False for incorrect statement : 2

(a) Entrepreneurship ecosystem is healthy if takes care of maintaining its
own unique environment.

(b) Business incubation is a ‘stagnant process of business development’.

e HY & T T8 3 Tod w9 & fou o fafge .

(%) JEfiar aIRfeafaeh! 7 @eer & If¢ 3794 @9 o 33 ITATaul Sl ST T@H & &I
@ gl

(@) fooma sTaese T ‘auE faw@ & fRr ufer 2

26. State whether the following cases are of direct tax or indirect tax : 2
(a) Income tax
(b) Property tax
Fad fob ffaiRad ame I Sk 2 AT TG L h
() I
(@) gufd +

27. Fill in the blanks (any two) : 1x2=2

(a) is a concept using which entrepreneurs produce goods and
services needed by the customers and can earn profits by selling these
in market.

350/S8/A/616 15 [ RARRRARTNER ¢ p-r-0.



(b) of an organization is the big picture of what the company wants
to achieve.

(c) describes what a company wants to do now. It focuses on the
present.

(d) are fundamental beliefs of an organization. These guide the
behaviour of the people and help them to differentiate between right
and wrong.

e wml # gid fife (5 Q)

() Tsh U ¢ FrHent IUE e IuHt urEehl & fou stawEes aeqa 3k
AT T IATET Hid & IR T2 R T d°hl A HAT Thd & |

(@) Tl @mea &1 Ul 1 Bifid e IEdl @ sEehl 99 a&dit Bl
(@ 90 ot g T uw Sl 3w hE Igdl @1 98 999 W shfgd 2

(a) forelt Tre Y HifeTss A=raTd E1 A AT SEER T AT g Hd @ 3R
3% TE 3N e % " @ HE H Heg B

28. Write True for correct statement and False for incorrect statement : 2

(a) GST is not based on the destination of consumption at the time of the
sale of goods and services to the final consumer and not at various
points.

(b) With the introduction of GST, all the indirect taxes such as VAT, CST,
service tax, excise tax, etc., are replaced by only one tax, i.e., GST.

el HYT & U g9 3R Ted U & fou smwe fafEu

(%) Sfto wHo Fho IHfem IUMRAT I Sxqan M Tanani 1 foshl & Tmy 9T &> A
3R faftm fogati w smarf@ =& 2

(@) Sfto THo o I IEIM o @Y, At TTIYT H AY I, o THo o, HAT Y,
30UTE Yoo IAMG I had Th HL A Sfto THo o g Hfewentua ferem Sar 21

29. Whom does the Factories Act, 1948 protect? What is the applicability
criterion of this act? 2

Faelt srfufrm, 1948 forashl & +tar 37 3w rfufem &1 Tasuar AFes @ B0

30. What are the PSMART objectives? 2
PSMART 329 &1 87

350/5S/A/616 16 AR



Or / HY4l

What is the difference between concrete experience and reflective
observation?

3 a3 faaTefier steelieT & s @ 3T 27

31. What do you understand by miscommunication? Give any two reasons for
miscommunication. 2

Teld TER W AT 1 THAA 87 Tid HER % i @ HRUl §arsy|

32. Why should you include a cover letter with your CV? Does it serve any
purpose? 2

ARl 34 Ho o & FIY Teh Hel el F&l AMHA w1 IMge? = I8 fordl 389w
#1 gfd e 27

33. What is an anti-virus? Give example. 2

T TA-TRAE HT 87 IS <)

34. “Cloud computing means that clouds have computers.” Do you believe
that the given statement is correct? If no, explain the meaning of cloud
computing in brief. 2

“FARE HIT HT TAAS & foh STl H P &l FT AT AAd & b feam m wem
dt 27 Afe &, O wISs wegfen w1 e w@ew § gwesu)

35. What is an entrepreneurship ecosystem? 2

Iefyar gritfeafash o3 = 287
Or / Y4l

What is business incubation?

fooE sREYH w1 27

~

[ RARRRARTNER ¢ p-r-0.
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36. Enumerate the differences between recruitment and selection. 2

wdf 3 == & 9 FAR «qrEu)
Or / FHYdr

Distinguish between training and development.

yferor 3R foeeE & i Aa "drEn)

37. Mention any two commodities which are kept outside the purview of GST. 2

foredl & a3l @1 3g@ HIvT {2 ho wo Fo & gER & Wl @1 T R

38. “Time management has become crucial in personal and professional lives.”
Do you agree with the given statement? If yes, then support your answer
by explaining Covey’s 4 quadrants model for time management. 3

“eIfeTd 3R AEETS Sfed § 99 YEY Hewyul & T 'l @ 3 feu e e
A werd &7 dfe &, O oag yeue % U s % 4 =qe dige sl A w3
IW H1 g Hif)

39. “Successful communication requires listening and not just hearing.” In the
light of this statement, highlight the major differences between listening
and hearing. 3

“Hhe TR % foTT &I ¢ Sl 3Tawehdl B! & 1 foh Shadl A HI1” 30 HAA & elh
T eH ¢l 3R g & i ygE Al W THE S

Or / FYdi

“Communication is not only about what you but also how you say it.”
Explain the concept of verbal and non-verbal communication in the light
of the given statement.

“HR Shaol 3T T Had & 39 S) H &I ¢ dfcsh 39 30 FH Had & 38 S) |
ff 31" feuw U S & e d Aiflge 3 sTEnfeces EEIR hl AAYURON hl GHHTEY|

40. “A business organization is a complex structure which requires automation
beyond a particular scale of operations.” In the light of given statement
explain the concept of ERP and give one example of any ERP software
package. 3
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41. With a rise in internet and social media, cyber security has become a
major concern across the globe. You are required to mention at least five
safety tips for cyber security. 3

$eCTe 3R " Hifean # gfg & |19 & A gian gl WO H T fudl & s THE
fawr o9 8 21 IR e & fou wu-a-wn uiw geen IReA & 3ge il

42. Your brother Sukesh is looking for employment as an IT professional and
has been applying for jobs in organizations by sending his CV. However,
almost all the HR Managers rejected his CV despite of his qualifications
and experience. Sukesh wants to improve his CV. Help him by sharing the
do’s and don’ts of drafting a good curriculum vitae. 5

JYHT AT bW Th 3o o UM & &Y § TSR I TATT B & & 3 39T
o dto Aot TS | ikl & foTU 39T X @1 2| BeAieh, o avft o damed
TSR] 7 IThT AT 3 IYS o SrEsg IHHT Ho o @IS T e 71 gy o
Ho dffo GumAT TTEAT B| Th 3T=T Hio dio (FRATSET) IR i o folw a1 L 3 R
9 B T8 94 g SEh WG iU

Or / 3741

Satyam is your friend who has recently completed his graduation. Satyam
wants to apply for the job of an accountant in an organization. Help
Satyam in drafting a resume for this job stating the necessary details as
may be expected from a fresher.

gem 3Rl i § e g € § wae i uei gft i B 9 U TR § @R
&1 Aopll & fw ATeeT T IEdT 81 Io| 1 37 A & fiiu ATewes SRl &+
Ty, St % e Hfafeen ¥ snfaa & awdt 2, @ (FEEe) $9R wW 8§ geg it

43. Now-a-days cost-advantage has become a decisive point in determining
success of a business. Therefore, not everything is done in-house by the
organizations and various products are procured from outside if they are
available at a cheaper cost and various services are also outsourced.
Explain the meaning, advantages and disadvantages (two points each) of
in-house production and outsourcing. S
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Or / FYai

“Successful entrepreneurs not only put in their skills and hard work into
their ventures, but also achieve success by establishing and balancing
their enterprises within the entrepreneurial ecosystem.” If you agree with
the given statement, explain the meaning of entrepreneurial ecosystem
and its components.

‘TR ITHT T had U HINA HR HI WEAd I AU ITHT T G &, Sfeeh ITHIAAT
Uil o & iR 31 3Tml 1 wifyd 3R Tqfod #eh ot T%erdr a8l
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